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ECONOMICS HONOURS

~ [Introductory Staﬂsms gnd Appllcation 0]
Full Marks S
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5 ﬁéures 0 ma"gm indicate full marks,

- Candidates are required to give their answers in their own words
i as far as practicable.

Group - A

2

f; e suitable diagram to féﬁesent the data in each case?
g prices of gold in Indla in a particular week.

losses of a business concern for a period of 10 years.
mpendlture of thc Central Government for a period of 5 years.

&n cost and 1ts co”onents of a manufacturing firm in a particular year.
FAuRIY 10, VatYat /st
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i : _‘?:n- 15 ,;A%s and frequency density of the second class for the
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‘?E, 2o {_

151-155 | 156-160 | 161-165 | 166-185
| 15 15 2

i

factory for the first five months is 3585 units and
units. Calculate the average monthly production for the
y ;?.‘ 2

| 5U + 2.5 and U has the mode 20; find the mode
‘ 2

nedian is illustrated by comparing the answers to

2
jon are | &4.6 and 25.2 respectlvely and the coefficient

trlb 2
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¢ tubes, A and B. For :Eypes Ak
of the standard deviations are 9g }':\ean
Jative dispersion? our;
e ent
.". '_-.‘ﬁ-,l%,».‘h ' 2
value 2, are 1 and 16 respectively. Fing th, i

has a standard deviatio
1l be mesokurtic?

1d find the number of students whose

2 respectively. Calculate thg

le.

1e third moments about
' the left? Give reasons.




(4+1)+5

5+(2+3)
om the following data :

0 1,050 1,100

0 2,000 2,500

same level of Income, then Theil’s inequality measure
6+4

es and weights for 2020 with 2010 as the base year.

ight | House rent Miscellaneous

110.0 285.1
9 20

2000 with 2010 as the base year.

. i h extra allowance
010 and 9,500 in 2020, How muc e

2010 standard of living?
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